oA UL Actl uedl dsa, atitlletatR

23/90/204S ol A% HSO gGlRl A%cllHl

Hsoll o8 sHis: $¢/20159, el dilBlls Heeolla, aol-3 daolell AL

WA WoA-Autel UuUlcHs AMd

udlettdl yoldd ysllelt AUl el WAxnedd vledR $l olA Yl yscuHi wua
8. ¥ ol G5t Uletoll BREAA sl 518 2l 8l A A dl. OU/11/046
oll A% GlWRell 19-00 sclls YUl Hsal 303U/ U HIRSA %331 el U
% sl wRlaalHl wa B.

ALl slAatél slal YRaHL ALl Bofl Rl GREWAN ol Al

%331 UURL coRell ¥ Bl UM HAlEl GILE %Y sAAML WA 3l LAlA
Al A odl. A Hso gLl 33 stladl sl ] weu? §l URg sdla

Que . . . Correct Answer
No Option / Answer (With Options)
1 Which one of the following does not belong to the major general insurance (B) The Oriental
private sector companies in India ? Insurance
(A) Royal Sundaram Alliance Insurance Company
(B) The Oriental Insurance Company
(C) Reliance General Insurance
(D) Bajaj Allianz General Insurance
2 Mahesh has finalised a resale property which he plans to purchase 3 months (B) Mahesh can take
later. The current owner has not taken property insurance and Mahesh is insurance for the
worried that the property may be destroyed or damaged due to some peril. What property only
can Mahesh do ? after he becomes
(A) Mahesh can take property insurance for the property right away as he has the the legal owner of
right to protect the property that he is going to own in future. the property.
(B) Mahesh can take insurance for the property only after he becomes the legal
owner of the property.
(Q) Mahesh can exercise any of the above options.
(D) Mahesh can’t take insurance for that property as property insurance can be
taken only by the first owner of the property.
3 91U AUl AURARL A YRR scurl @Qewdt st “duty QAU Bo | (B) 37
ol Gyl sal R scunl 21d B ?
(A) 1,gseleR
(B) 31,2
(C) 1,BwR
(D) 24, 1A
4 What must businesses keep in mind about their customers in order to be (C) Their needs,
successful ? interests and
(A) How much they can pay concerns

(B)
(C)
(D)

How they will use the goods or services
Their needs, interests and concerns

Whether they can recommend them to other people




(A)
(B)
(C)
(D)

sl HEUL 6 WaR ol 12 3R Al WA B ?
HELSLocll

OUEE

yedl

g @B

(B)

QuBRel

(A)
(B)
(C)
(D)

General Accounting must be in line with which of the following ?
Accounting Standards issued by the ICAI

GAAP Standards Risk

International Accounting Standards

Insurance Regulatory and Development Authority (Investment) Regulations, 2000

(A)

Accounting
Standards issued
by the ICAI

(A)
(B)
(C)
(D)

What should be the font size of the Key Feature Document ?
16 of Arial

12 of Times New Roman

14 of Times New Roman

10 of Arial

(€)

14 of Times New
Roman

(A)
(B)
(C)
(D)

elslauoll olle et % A, 1930M1 4% 5HA UA sAL ARAAYE{ AL
ue ?

HIRAUQU ARULS

Hlsl yeal AULS

ARSIl UcULS

oids Acl UcRUALS

(A)

YRUBW AURASE

(A)
(B)
(C)
(D)

The Motor Vehicles Act was enacted in which year ?
1939
1940
1941
1942

(A)

1939

10

(A)
(B)
(C)
(D)

$0lloll U Aol SHHL ABAR e ddld o(lAott Ul 520 ) GuAlotul Act
8 ?

NH3

S0,

Hz

o,

(B)

SO,

11

(A)
(B)
(C)
(D)

What is the term used to describe the work output of one department being an
input for the work of another department in the same organisation and the
interrelationship of the department ?

External customer
Peers
Policyholder

Internal Customer

(D)

Internal Customer

12

(A)
(B)
(C)
(D)

A person would like to cover his stocks which he fears may be stolen. Which
policy should he take ?

Fire Policy

Liability Policy

Burglary Policy

Fidelity Guarantee Policy

(€)

Burglary Policy




13

(A)
(B)
(C)
(D)

‘e A’ Akl AU wRuUAl.
yalHd s2Aadl

& sAcdl

Alold s2naq

vl s2uaadl

(B)

st sl

14

(A)
(B)
(C)
(D)

IBNR stands for what ?
Income Before Net Reported
Incurred But Not Reviewed
Incurred But Not Reported

Investment Before Net result

(€)

Incurred But Not
Reported

15

(A)
(B)
(C)
(D)

Use appropriate verb form: By this time tomorrow, I ...................... my revision.

will finished
could finish
will have finished

will be finished

(€)

will have finished

16

(A)
(B)
(C)
(D)

In India the ..................... is empowerred to regulate the insurance industry.
Central Legislature

State Legislature

State and Central Legislature combine

The Supreme Court of India

(A)

Central Legislature

17

(A)
(B)
(C)
(D)

As per premium investment guidelines by IRDA, investment in Central
Government Securities should not be less than .......................

0.2
0.15
0.1

There are no such guidelines and insurance companies can invest the premium
collected the way they want to invest.

(A)

0.2

18

(A)
(B)
(C)
(D)

cllMotiia0L AYELAatl (A deoflal Ad UM Yol Uy el dlBdRul
Uelcllot UL Ao} SoHRUN WU

WRUE

ALRQIRHL

ARLAE

euelas

(€)

ALRIUE

19

(A)
(B)
(C)

(D)

With respect to life cover of some life insurance plans offered by insurance
companies, which of the below is possible as an option ?

The life cover always remains constant throughout the policy and cannot be
stepped up or stepped down during the tenure of the policy.

The life cover can only be stepped up or kept constant but cannot be stepped
down during the tenure of the policy.

The life cover can only be stepped down or kept constant but cannot be stepped
up during the tenure of the policy.

The life cover can be kept constant or stepped up or stepped down during the
tenure of the policy.

(D)

The life cover can
be kept constant
or stepped up or
stepped down
during the tenure
of the policy.




20 fQly Antet ARl ustat A, Ulselell s WaviLdl, (D) Gun
(A) calzs
(B) 3us
(C) GAeu
(D) Guww
21 Rajesh has taken an insurance plan for a sum assured of Rs. 20 lakhs for a tenure | (B) Pure Endowment
of 20 years. The plan specifies that the sum assured will be paid only if Rajesh Plan
does not die during the policy tenure of 20 years. Which type of plan has Rajesh
opted for ?
(A) Term Assurance Plan
(B) Pure Endowment Plan
(C) Double Endowment Plan
(D) Endowment Assurance Plan
22 Which of the following describes Quantum ? (B) The likely cost of
(A) The time the accident happened the claim
(B) The likely cost of the claim
(C) The number of claims
(D) The size of the claims
23 ARcloll oltllREL sIRL ellgc AN WA A YA At Usl sl (B) yssluline
Yillet djuniell Qeuni wice] & ?
(A)  s8llAue
(B) 3ssluline
(C) =oae
(D) wmae
24 Fill in the Blank. An appeal in front of the State Commission against a decisionof | (B) 30
the District Forum must be within ............... days
(A) 15
(B) 30
(C) 45
(D) 60
25 lRlel UASHR FozrAAAc FWNEU RBAH AlRcloll sAL AdML A B2 | (B) ¥pyae
(A) Ay
(B) Fosioue
(C) R
(D) qzaueue
26 There are 700 car owners in a city. On an average it is expected that 2% of the (C) Rs.300
cars of 14 cars are likely to meet with an accident. It is expected the loss suffered
by each of the 14 car owners will be Rs. 15000. How much be the premium
required to be contributed by each of the car owners to cover the losses ?
(A) Rs.100
(B) Rs.200
(C) Rs.300
(D) Rs. 400




27 David and Anthony are brothers going for a picnic on their bikes with their (B) David’s insurance
spouses. Both have taken insurance for their bikes. Due to Anthony’s negligent company will
driving, both the brothers bang into each other and David’s bike is damaged. settle the claim
How will the insurance claim be settled ? and recover the

(A) David’s insurance company will settle the claim and Anthony will get away with money from
his negligent driving as he is David’s brother. Anthony as he

(B) David’s insurance company will settle the claim and recover the money from was responsible
Anthony as he was responsible for the accident due to his negligent driving. for the accident

(C) The insurance company will not interfere as it is a family matter between the two due to his
brothers and the insurance company has got no role to play as insurance negligent driving
companies don't interfere in family matters. )

(D) Anthony will take the money from his insurance company and pay for the repairs
of his brother's bike.

28 56 skl A o2l ? (A yorasdl

(A) moascl

(B) a4

(C) qagaunel

(D) uRRAMQ

29 Ramesh had taken a life insurance policy of Rs. 1,00,000 from Company ABC and (D) Nominee will
another life insurance policy of Rs. 50,000 from Company XYZ. On Ramesh’s receive total Rs.
death, his nominee makes a claim. How much is the claim amount that he will 1,50,000 out of
receive ? which full benefit

(A) Nominee will receive only Rs. 1,00,000 from Company ABC as it was the first amount of Rs.
company to offer insurance cover to Ramesh. 1.00.000 will be
(B) Nominee will receive total Rs. 75,000 out of which Rs. 50,000 will be paid by paid by Company
Company ABC and Rs. 25,000 will be paid by Company XYZ. ABC and full
(C) Nominee will receive only Rs. 50,000 from Company XYZ as it was the last benefit amount of
company to offer insurance cover to Ramesh. Rs. 50 000 will be
(D) Nominee will receive total Rs. 1,50,000 out of which full benefit amount of Rs. pa}d b’y Company
1,00,000 will be paid by Company ABC and full benefit amount of Rs. 50,000 will XY7
be paid by Company XYZ. )

30 Change the degree: Ashoka was one of the greatest kings. (B) Very few kings
(A) No other king was so great as Ashoka were as great as
(B) Very few kings were as great as Ashoka Ashoka
(C) Ashoka was greater than any other king
(D) Some other kings were as greater as Ashoka

31 Within the calculation of technical pricing there are a number of future trends (B) Claims made
the underwriter needs to consider - 4 are given below. Which one is incorrect ? during the year

(A) Inflation

(B) Claims made during the year
(C) Technology

(D) Legal Changes

32 Fill in the Blank. Unit Linked Insurance Plans (ULIPs) are ............. linked insurance | (C) market
plans.

(A) insurance
(B) debt

(C) market
(D) indemnity




33

(A)
(B)
(C)
(D)

AXAULAAL UE HIZ 5ol 2eoHl 2| 3ecll GHR Sl 371 B 2
27 Al
35 at}
40 o
50 citi

(B)

35 oy

34

(A)
(B)
(C)
(D)

The Employees State Insurance Act was enacted in which year ?
1942
1947
1948
1950

(€)

1948

35

(A)
(B)
(C)
(D)

el wsslaad ser sAc - RAuid 0.
2

A

a

2l

(A)

36

(A)
(B)
(C)
(D)

According to Section 45 of the Insurance Act, on finding out about nondisclosure
of material facts, in how many years can the insurance company declare the
contract as null and void ?

Only at the time of accepting the proposal
Only during the first year of the policy
During the first two years of the policy

Never. Once the insurance company issues the policy it cannot declare the policy
void due to non-disclosure of material facts.

(€)

During the first
two years of the

policy

37

(A)
(B)
(C)
(D)

In which regulations are the code of ethics directed towards ethical behaviour
spelt out ?
Government

IRDA
Insurance Advisory Committee

Insurance Institute of India

(B)

IRDA

38

(A)
(B)
(C)
(D)

512224 (Re1é sall HI? sl (Aseusll Guallol 590 ?
Ctrl + Alt + Delete

Ctrl + Shift + Delete

Ctrl + Tab + Delete

Ctrl + Shift + Alt

(A)

Ctrl + Alt + Delete

39

(A)
(B)
(C)
(D)

When insurance companies undercut each other to grab market share by
reducing premium, it is known as .........ccceeevuune
Soft Market

Hard Market
Competitive Market

None of the above

(A)

Soft Market

40

(A)
(B)
(C)
(D)

AAs sIH 12 (R auul A B AY siH 15 BauMi Y3 52 8. oo 4R wd
slH 52 8. UMl A st 6181 & B. olsle] st BASE Y3 52 8. slH e 32cl

Rau we] ?
6

8
10
12

(€)

10
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(A)
(B)
(C)
(D)

What does IBNR in insurance business stand for ?
Incurred But Not Reported

Incurred But Not Realised

Injured But Not Reported

Injured But Not Realised

(A)

Incurred But Not
Reported

42

(A)
(B)
(C)
(D)

What is the maximum remuneration limit for a micro insurance agent for non-life
insurance business ?

10% of the premium
15% of the premium
20% of the premium

5% of the premium

(B)

15% of the
premium

43

(A)
(B)
(C)
(D)

afesAct AxAe{l e UaAL GlLe Al Ad URMEA A YU sllotyold]
Aol sRAHL AL, AL U Sloll AtAUE Al ] & ?
RAMGALRAAQL ULES

slsl SIAASR

GHL2isR sl

salalcte Yetall

(B)

sLsL SIAASR

44

(A)
(B)
(C)
(D)

Maintaining customer satisfaction while policies are in force is called

Servicing activities
Customer orientation
Customer satisfaction

Customer identification

(A)

Servicing activities

45

(A)
(B)
(C)
(D)

Fill in the blank: The number of soldiers killed in the war ..................... not large.

was
were
are

have to be

(A)

was

46

(A)
(B)
(C)
(D)

What is the treatment to be given to the difference between revenue and
expenses ?

It is included as profit
It is paid to shareholders in the form of dividends
It is held in reserve to cover claim costs

It is returned to policyholders

(€)

Itis held in
reserve to cover
claim costs

47

(A)
(B)
(C)
(D)

Which one of the following does not belong to the main products of life
insurance ?

Whole life
Term
Personal accident insurance

Endowment

(€)

Personal accident
insurance

48

(A)
(B)
(C)
(D)

AR ARHL A A-2016H1 8l AWs (Aelle elgal RMRIALA o{latss AU
58 AAUL 6121 UeHIB A scllofl M3 scMl wicll 2

Lo AUl usteHl

oAt Aldet el

oAt A uRNE

osRAc Uz Hsn

(A)

afesAd AL
wsleHl
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(A)
(B)
(C)

(D)

Section 64VB will advise the insured of that .................
insurance will not be effective unless the premium is paid before cover is to
commence

insurance will not be effective unless the insured reaffirms the declaration
relating to material facts

insurance will not be effective if the cover is amended from that the renewal is
based on

insurance will not be effective if there is any change in the agent or broker

(A)

insurance will not
be effective unless
the premium is
paid before cover
is to commence

50

(A)
(B)
(C)
(D)

o9c 36l AUl 3(Buldtell el WLl vl
YaHl dptouny udl

(AU wagetacl

Ha QS| Gl x<ll

gEAoll UusRL all osal

(B)

[ARict Uoetacll

51

(A)
(B)
(C)
(D)

For policies under Group Personal Accident Insurance the instalment of the
premium covering a particular period must be paid within .................. form the
date of commencement of that period.

2 days
7 days
15 days
30 days

(€)

15 days

52

(A)
(B)
(C)
(D)

Which rules have been framed by the Central Government in 1988 to resolve all
complaints related to settlement of complaints ?

Redressal of Public Grievances Rules
Insurance Council
Policyholder’s servicing

None of the above

(A)

Redressal of
Public Grievances
Rules

53

(A)
(B)
(C)
(D)

oAl AUl Rl Reata oA ealda Beall Ul sa [(Feetsll s¢
uldl el 2

YRo%aldlR

Awsle

RIEHE

ol2Le

(D)

ollele

54

(A)
(B)
(C)
(D)

As per the Insurance Act, for non-life insurance, how much is the claim value
exceeding which a report has to be obtained from a licenced surveyor ?

Rs. 10,000
Rs. 15,000
Rs. 20,000

The Insurance Act does not specify any amount for which a report has to be
obtained from a licenced surveyor.

(€)

Rs. 20,000

55

(A)
(B)
(C)
(D)

HIQRLHL “SARIRIRAL oltioll A A2 WRlHL «(lAell S cleclotl AUR
YHIRA s1RQ etcll a3 ?

3(@an

Noa[Qaun

SARLSS

stolo

(€)

SARLES




56 Which was the first company to conduct life insurance business in India ? (C) Oriental Life
(A) Madras Equitable Insurance
(B) Bombay Mutual Company
(C) Oriental Life Insurance Company
(D) Bharat Insurance Company
57 Probable Maximum Loss or PML is determined using the Maximum Possible Loss | (A) The probability of
(MPL) and which other factor ? the peril striking
(A) The probability of the peril striking
(B) The cost of implementing loss reduction techniques
(C) The cost of the actual loss
(D) The cost of consequential losses
58 AsAW 2oeo{l AR 2l wsl. @ ay + R
(A) ™ot + RU™U
(B) 3y + Gorun
(C) U + GouA
(D) Y + AN
59 Which of the following is the regulator of insurance business in India ? (D) IRDA
(A) General Insurance Corporation of India
(B) Life Insurance Corporation of India
(C) Insurance Institute of India
(D) IRDA
60 Give synonym of: 'Contemplate’ (B) Meditate
(A) Condemn
(B) Meditate
(C) Menuplate
(D) None
61 Which of the following is not a type of complaint that fall under the purview of (D) Remuneration
the Insurance Ombudsman ? paid by the life
(A) Partial or total repudiation of claims by an insurer. insurer to the
(B) Dispute in regard to premium paid or payable in terms of the poilcy. Insurance Agent.
(C) Non-issue of any insurance document to customers after receipt of premium.
(D) Remuneration paid by the life insurer to the Insurance Agent.
62 Which of the following institution’s mission is to protect the interest of holders of | (B) Insurance
insurance policies ? Regulatory and
(A) Securities and Exchange Board of India (SEBI) Development
(B) [Insurance Regulatory and Development Authority (IRDA) Authority (IRDA)
(C) Reserve Bank of India (RBI)
(D) Association of Mutual Funds of India (AMFI)
63 ofesRlet Aol YuArol sl i€t UBA glRL 23 $AAA ‘gUINRL (B) Severe Acute
Yscl %R Hata(@2Alet’ vddld duRdl 'SAM’ AcEall uY oIl Malnutrition
(A) Serious Anaemic Mother

(B)
(C)
(D)

Severe Acute Malnutrition
Severe Anaemic Mother

Severe Anaemic Malnutrition




64

(A)
(B)
(C)
(D)

When was the General Insurance Council formed ?
1957
1959
1952
1955

(A)

1957

65

(A)
(B)
(C)
(D)

‘ofl HIR o A2 oll8l ot all, ctd] suL A3 - uL Ul sl Heoll B 2
HELSLocll

Hol&R

QuiRal

afa @B

(D)

afct @Qsl(sc

66

(A)
(B)
(C)
(D)

A person would like to buy a car. Which is the insurance he should compulsorily
take before bringing the car to the road ?

Personal Accident cover
Third Party Motor Liability Insurance
Burglary Insurance

Motor Own Damage cover only

(B)

Third Party Motor
Liability Insurance

67

(A)
(B)
(C)
(D)

Motor insurance covers which of the following ?
Damage to car only

Damage to individual

Damage to property belonging to third parties
All of the above

(D)

All of the above

68

(A)
(B)
(C)

(D)

ML ol U vatadl 1 ol etcuHal sl ol 2

3. 1,600 535S

3. 20,000 52U

19716{l cacll ataLcdlal e Ml drcdlal LU Hl dsal HaAEls 3. 100

AsuRL ULy otell

(€)

19710{l cdl
AL Al AR
aHlel ardlat
LRAAHL AR
HLaULEls 3. 100

69

(A)
(B)
(C)
(D)

Which type of fire policy covers stock at various locations under one sum insured
?

Declaration policy
Floating policy
Long term policy

Consequential loss policy

(B)

Floating policy

70

(A)
(B)
(C)
(D)

Rl URSIR IRl AxAUL RAAA Royotet (adladl vy Aea...
adladl e

<URSs Wl

SLAEL] WRal

dard AU

(A)

agladl
sALAAU

71

(A)
(B)
(C)
(D)

Fill in the Blank. In the case of an insurance brokers, the Principal Officer and
persons soliciting and procuring business are required to undergo at least
........................ hours of theoretical and practical training from an institution
recognized by the Authority.

10

100
200
500

(B)

100




72

(A)
(B)
(C)
(D)

How much is the maximum Foreign Direct Investment (FDI) allowed in insurance
in India ?
0.26

0.49
0.74
1

(A)

0.26

73

(A)
(B)
(C)
(D)

ARAUCR L AGE UL A MY vl
Guue

cdcyz™

Gt

agdlel

(B)

cAcy3s™

74

(A)
(B)
(C)
(D)

In life insurance, the difference between the date a policy commences and the
date the risk cover starts is called ..........ccccerveuune

Deferment period
Revival period
Default period

Nomination period

(A)

Deferment period

75

(A)
(B)
(C)
(D)

Masculine gender of 'Bee' is ......cccceevervvunracns .
drone
drake
beak

bear

(A)

drone

76

(A)
(B)
(C)
(D)

In the case of a ULIP which fund invests a major portion of its funds in
Government bonds and securities ?

Balanced Fund
Money Market Fund
Debt Fund

Equity Fund

(€)

Debt Fund

77

(A)
(B)
(C)
(D)

IBNR claims are .......c.cecevvveenianee
Involved but not responsible
Incurred but not reported
Investigated but not reported

Incurred but not responsible

Incurred but not
reported

78

(A)
(B)
(C)
(D)

GrlRUE 2 WL AAA Al olelgR Bl WRWE sal AUl wdd & ?
SRR

auAlaate

USLRAAYR

Al

(A)

arerll

79

(A)
(B)
(C)
(D)

Which of the following RBI Governor examined the insurance market and made
recommendations for reforms ?

Dr. Manmohan Singh
Bimal Jalan
R. N. Malhotra

C Rangarajan

(€)

R. N. Malhotra




80 ARl Asell eadal, € sa@(
(A) sl
(B) slQRAl
(C) sa@l
(D) s(aalloll
81 Which of the following pools is not managed by GIC ? (C) Fire Catastrophe
(A) Third Party Motor Pool Pool
(B) Terrorism Pool
(C) Fire Catastrophe Pool
(D) Marine Hull Pool
82 Which of the following is not a fundamental objective of reinsurance of life and (A)  Minimise
non-life insurances ? retention within
(A) Minimise retention within the country the country
(B) Develop adequate capacity
(C) Secure the best possible protection for the reinsurance costs incurred
(D) Simplify the administration of business
83 2,5,8,11, 14, ...ouue.ee. A AR Aelle 25y ue M. € 74
(A) 77
(B) 78
(C) 74
(D) 92
84 Who is responsible to provide appropriate training to insurance agents / (B) Life insurance
intermediaries before they are authorised to sell Unit Linked Insurance products Companies
?
(A) Insurance Regulatory and Development Authority
(B) Life insurance Companies
(C) Life Insurance Council
(D) Insurance Institute of India
85 UELR decielellss U AULEIA dRSIAl AUe sl Ml sl auel | (€ ¢ . 1928
ecl ?
(A) . 1929
(B) ®. 1926
(C) ®. 1928
(D) ®. 1927
86 There are 100 people in a village. On an average every year 4 people die. The (B) Rs. 1000
economic value of each person is Rs. 25000. How much will be the premium
required to be contributed by each person to settle the losses of the families of
persons who die ?
(A) Rs.500
(B) Rs.1000
(C) Rs.1500
(D) Rs.2000
87 The process of applying for insurance is called ..................... (D) Proposal
(A) Application
(B) Consideration
(C) Endorsement
(D) Proposal




88

(A)
(B)
(C)
(D)

6’ AcEall ALA Qgatedl 2AoE AUl
sl

allg

LS

slalve

(A)

s(al%

89

(A)
(B)
(€)
(D)

Arjun has taken a common health insurance policy for himself and his spouse.
Which type of policy is this ?

Joint Policy

Family Floater Policy

Group Policy

Any of the above

(B)

Family Floater
Policy

90

(A)
(B)
(C)
(D)

Give plural form of: 'Hypothesis'
Hypotheses

Hypothisis

Hypothysis

Hypothises

(A)

Hypotheses

91

(A)
(B)
(C)

(D)

Rajesh has bought a money back policy with a sum assured of Rs. 2,00,000 for a
tenure of 20 years. The policy specifies a payment of 20% of the sum assured
every 5 years and 40% on the maturity of the policy. If Rajesh dies anytime
during the policy term then the insurance company, along with the payments
made till that date, will pay the sum assured of Rs. 2,00,000 and the policy will be
closed.

4 pure endowment plans of 5, 10 15 and 20 years and 1 term assurance plan of
20 years.

4 endowment assurance plans for 5, 10, 15 and 20 years and 1 term assurance
plan of 20 years

4 term assurance plans of 5, 10, 15 and 20 years and 1 pure endowment plan of
20 years

4 endowment assurance plans for 5, 10, 15 and 20 years and 1 pure enowment
plan of 20 years

(A)

4 pure
endowment plans
of 5,10 15 and 20
years and 1 term
assurance plan of
20 years.
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(A)
(B)
(C)
(D)

The Maximum amount that an insurer wishes to keep on any risk is known as
what ?

Capacity
Retention
Maximum limit

Ceding amount

(B)

Retention

93

(A)
(B)
(C)
(D)

Hielel ARNRML 2(RRe] YldsR0L sl oMl A B ?
ged

Bsell

I ENI

pbIL’s

(B)

EXGL
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(A)
(B)
(C)
(D)

Replacement cost is paid for the property by the insurer under which policy ?

Declaration Policy
Reinstatement Value Policy
Floating Policy

Consequential Loss Policy

(B)

Reinstatement
Value Policy




95

(A)
(B)
(C)
(D)

Ao2all Gealal sl 2aAHl Ul &cl ?
oell
ol Ulol
@Rd
galcll

(D)

gelcll
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(A)
(B)
(C)
(D)

In the case of discontinued linked insurance policies, the policyholder has an
option to either ........cccvcuvrrnnene. the policy within the terms and conditions
governing the policy or .........cccevurunuee. the entire funds from the underlying ULIP
funds with no risk cover.

Revive, withdraw
Terminate, withdraw
Revive, forgo

Terminate, forgo

(A)

Revive, withdraw

97

(A)
(B)
(C)
(D)

What is the penal interest that the insurance company has to give to the claimant
in case of delay in payment of claim ?

1% above the prevailing bank rate
2% above the prevailing bank rate
4% above the prevailing bank rate

5% above the prevailing bank rate

(B)

2% above the
prevailing bank
rate
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(A)
(B)
(C)
(D)

osActoll sl Axclotl otimell (B32oll Yuat Al gotliNoe 1A B ?
CIRTIELCTEY)

A RRAsARs

AU WY ARl

M AAREY

(€)

&H
Qe ARlE
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(A)
(B)
(C)
(D)

As per current FDI norms how much is the FDI limit for insurance sector ?
0.26

0.74

1

There is no FDI allowed in insurance sector in India.

(A)

0.26

100

(A)
(B)
(C)
(D)

UURL AL aASl AELA ol oA [ 5L oA B ?
AxAUEA

HuAY tllet

astytlet

A uld

(D)

A uld

101

(A)
(B)
(C)
(D)

The ratio that reflects the overall profitability of an insurance company is

Expense ratio
Operating ratio
Loss ratio

Combined ratio

(D)

Combined ratio

102

(A)
(B)
(C)
(D)

A house was burnt and weakened by fire. After many days, there was a storm
and it brought down the house completely. In this case, what will be considered
the proximate cause ?

Fire
Storm
Both of the above

None of the above

(B)

Storm




103 ‘d Asell AR YolRAl & r Ulsloll vEsR wowial. € Qs
(A)  2cElfuIA
(B) otoa
(C) culds
(D) Guww
104 What is the foundation of good governance ? (A) Ethical behaviour
(A) Ethical behaviour
(B) Having little concern for others
(C) Beinghonest
(D) A high concern for self
105 Use proper conjunction: There was little hope of success, ......cccoceeerureerenen. They (B) nevertheless
decided to perform the operation.
(A) so
(B) nevertheless
(C) because
(D) sothat
106 An endorsement follows a request for change/s in the policy. Which of the (A) Change of
following will not be a subject for an endorsement ? insured’s address
(A) Change of insured’s address
(B) Change in renewal date
(C) Increase in sum insured
(D) Cancellation cover
107 The operative clause is also known by which other name ? (A) Insuring clause
(A) Insuring clause
(B) Preamble
(C) Signature clause
(D) Policy condition
108 AR UAR IR 5 clegsH AUUE A3 YAL GLE F2Al UHAML HyR U (D) ¢ wWscudlauni
%33 B ?
(A)  olat wscuSlALH
(B) ~tg mscuslauni
(C) o Ascuslauni
(D) & wsauslauHl
109 Fill in the Blanks.The instrument through which a transfer or assignment of a (D) (i), (ii) and (iv)
policy of life insurance is made must be .................. ) sereneesesssesnasnns And
........................ (i) Signed (2) Attested (iii) Notified (iv) Stamped
(A) (i), (ii) and (iii)
(B) (i), (iii) and (iv)
(C) (i), (iii) and (iv)

(D)

(i), (ii) and (iv)




110

(A)
(B)
(C)
(D)

WA cllsauiel Auict Mella cdvll: datad Ecla Wllell WA WAL
lget 8.

a

all

®
A

(D)
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(A)
(B)
(C)
(D)

When did insurance begin in Bobylon ?
1856 BC
1835 BC
1947 BC
1750 BC

(D)

1750 BC

112

(A)
(B)
(C)
(D)

How are risks measured ?

The cost of actual loss

The cost of consequential loss

The likely loss that may occur if a peril strikes

The likehood for a peril striking

(€)

The likely loss that
may occur if a
peril strikes

113

(A)
(B)
(C)
(D)

AU (3321 5cll HI2 58 §59l0t Sloll GUAL scUHL A B ?
F3
F5
F7
F9

(B)

F5

114

(A)
(B)
(C)
(D)

Separation and duplication are examples of ....................
Consequential losses

Hedging

Loss reduction techniques

Financial risks

(€)

Loss reduction
techniques

115

(A)
(B)
(C)
(D)

AlRdoll (332 Slastusl 5004l 222 sl uLscUML wicl ?
A, Raral REBau

o133 R3an

fotwrs RBan

AUWls RBau

(€)

fletuts R[3un
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(A)
(B)
(C)
(D)

Satellite Insurance does not cover which of the following ?
Pre-launch insurance

Personal Accident Cover for the Crew

Orbit insurance

Third party Liability

(B)

Personal Accident
Cover for the
Crew

117

(A)
(B)
(C)
(D)

Free look option has to be exercised within how many days ?
10
20
15
30

(€)

15
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(A)
(B)
(C)
(D)

@ ualotell wel Al Avll: 4B diat 2l
Hoal dlal Ul

3ulled olcteal

o€ U8 wcll

el »dl «¥qg

(B)

3oL oldlaall
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(A)
(B)
(C)
(D)

When was general insurance business nationalized ?
1973
1970
1968
1975

(A)

1973

120

(A)
(B)
(C)
(D)

Select single word for the following phrase: "Government based on religion"
Diarchy

Theocracy

Plutocracy

Aristocracy

(B)

Theocracy

121

(A)
(B)
(C)
(D)

Where would an insurance company find guidelines on investing funds ?
There are no guidelines

IRDA Regulations

Company guidelines

The Insurance Act

(D)

The Insurance Act

122

(A)
(B)
(C)
(D)

What are agreements between insurers and reinsurers known as ?
Quota shares

Treaties

Excess of loss

Pool arrangements

(B)

Treaties

123

(A)
(B)
(C)
(D)

A otoll Aol 185 m UA 215 m B. Aullo{l BSU WaisA 50 km/hr sl 40
km/hr 8. olal 3ol As o (ML AUIAR ALl UR €13 B. J2cl AHAML
»sUl 2ot Ll Zotadl YR 59 ?

1 {lo{le 12 As05

2 {lo{l2 24 As05

2 {lo{le

1 lo{le 48As05

(B)

2 Hlo{le 24 As0S
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(A)
(B)
(C)
(D)

The Life Insurance Corporation (LIC) was formed on .....................
1st January 1956

1st September 1956

1st January 1947

1st September 1947

(B)

1st September
1956

125

(A)
(B)
(C)
(D)

‘§601 & clciotoll WUlotoll AUDL sl A’ - AGEUHS HI2 WS AcE UL
uRalxs

Rt

uRsul

@Bstosct

(B)

Rt




126 The two ways to measuring risk within a risk register are probability and (A) Severity
(A) Severity
(B) Financial
(C) Ownership
(D) Transferability
127 The Insurance Association of India consists of .................... (i) i. Members: All (A) Onlyiandiii
insurers that are incorporated or domiciled in India (ii) Members: All insurers
incorporated and domiciled outside India (iii) Associate members: all insurers
incorporated and domiciled outside India (iv) Associate members: insurers that
are incorporated or domiciled in India. Which of the following options is correct ?
(A) Only i and iii
(B) Onlyiandiv
(C) Only ii and iii
(D) Only ii and iv
128 aslal dlgsl ofsAd AAall sl (FecuHl waAd & ? (A 22l
(A) Al
(B)
(C) acas
(D) Yod
129 Fill in the Blank. As per the Consumer Protection Act, 1986 the jurisdiction of a (B) Rs. 20 lakhs
District Commission extends up to value to services and compensation not
exceeding .......cceeeeene.
(A) Rs.10 lakhs
(B) Rs.20 lakhs
(C) Rs.50 lakhs
(D) Rs. 1 crore
130 5261R, 201311 WAL Uscllcle] ol QU ©  ¥scllot
(A)  ollscll
(B) ot20(la
(C) ¥scllet
(D) Aau
131 If the cost of damage is being met using internal resources / funds, how is the risk | (D) Retaining
being managed ?
(A) Avoidance / prevention
(B) Transfer
(C) Reduction
(D) Retaining
132 When there is a possible claim, the insured must initially advise the insurer (A) Immediately
within what time period ?
(A) Immediately
(B) 1week
(C) 2weeks
(D) 1month




133

(A)
(B)
(C)
(D)

‘eletofl cldl dietnaell olg 1ot el cusanidll séd el Aell ystR
aull.

dcaldgtd

st

CICEN

(Qragdge ot

(D)

(Qrailgé ot
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(A)
(B)
(C)
(D)

Which of the following is not among the Insurance Councils mentioned in Section
64C of the Insurance Act, 1938 ? (i) The Life Insurance Council of India (ii) The
Health Insurance Council of India (iii) The General Insurance Council of India

Only i and iii
Only ii
All of the above

None of the above

(B)

Only ii

135

(A)
(B)
(C)
(D)

Antonym of: 'Democracy'
Autocracy
Presidency
Theocracy

None of the above

(A)

Autocracy

136

(A)
(B)
(C)
(D)

Section 140 of the Motor Vehicles Act 1988, provides for liability of the owner of
the Motor Vehicle to pay compensation in certain cases, on the principle of no
fault. How much is the compensation payable for death in such cases ?

Rs. 10,000

Rs. 25,000

Rs. 50,000

Rs. 1,00,000

(€)

Rs. 50,000

137

(A)
(B)
(C)
(D)

In reinsurance terms a treaty condition stating that the insurer’s loss must
exceed a certain limit for the reinsurer to get involved is called ....................

Excess of loss
Quota share
Ceding

Pool arrangement

(A)

Excess of loss

138

(A)
(B)
(C)
(D)

waliaRglla dnullell o 12 Qard? Al M RAselstl sal AdMUI
Yool uRMe’s] wAdlyol U &d ?

cset

JALs

ERL

slatstat

(€)

R\s8lH
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(A)
(B)
(C)
(D)

The 2 main sources of income for an insurance company are underwriting income
and ....ooveveeeeeneenes income.

Claims Salvage
Risk Management
Reinsurance Commission

Investment

(D)

Investment
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(A)
(B)
(C)
(D)

U3 usteHl, Redl Yesd sl slAoll stvaratl Auise oid wguel.
Gueis? Nl

&3les €£Q

RAHCARAAL UIES

Yol el

(A)

GHLalsR Al
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(A)
(B)
(C)
(D)

Insurers invest in fundamentally different way Asset Liability Management and

Modern Portfolio Theory
Modern Profit Theory
Multiple Portfolio Theory
Multiple Profit Theory

(A)

Modern Portfolio
Theory

142

(A)
(B)
(C)
(D)

ABC building is insured for Rs. 12 crore and the Machinery for Rs. 3 crore. The
true values are Rs. 18 crore and Rs. 4 crore respectively. There is a serious fire
and the building suffers damage to the tune of Rs. 10 crore and the machinery,
Rs. 3.6 crore. What is the payable claim amount ?

Rs. 8.10 crore
Rs. 9.36 crore
Rs. 9.28 crore
Rs. 10.20 crore

(B)

Rs. 9.36 crore

143

(A)
(B)
(C)
(D)

AULes Y&l Ug[ial Aol MO Ane Aesloll [Bclle] &R A A MR A
URSIR “5oosHA AFA Wos WR5Aol AwaR{l vlg g oJx2Ad” ofl UL
sl adel s © ?

1982

1985

1990

1987

(B)

1985

144

(A)
(B)
(C)
(D)

Insurers protect the funds of the group by:
Not paying for losses which are not accidental
Making premiums excessive

Paying all claims

Paying exaggerated claims

(A)

Not paying for
losses which are
not accidental

145

(A)
(B)
(C)
(D)

GURA N HL AUAIN A cgeell carcRal Ul A3 saHl wudl ?
1920
1923
1921
1927

(€)

1921
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(A)
(B)
(C)
(D)

Earlier employee theft cover used to be known as .........................
Robbery

Embezzlement

Fidelity Guarantee

Hold Up

(€)

Fidelity Guarantee

147

(A)
(B)
(C)
(D)

In which year was the IRDA was set up ?
1998
1999
2000
2001

(B)

1999
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(A)
(B)
(C)
(D)

UG WA UsR BAHL: ‘oldAB A ‘€A ACELHL S0 HHIY O |

siurRA
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cdcyz™
(o)

(D) @QJ’
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(A)
(B)
(C)
(D)

How much is the minimum share capital requirement for a TPA ?
1crore

10 crores

50 lakhs to 250 lakhs

There is no minimum capital requirement

(A) 1crore

150

(A)
(B)
(C)
(D)

Arrange the following words in ‘Alphabetical order’. 1) Accompany  2)
Accommodate  3) Accent  4) Acclimatize

3,4,1,2
2,3,4,1
3,4,2,1
1,2,3,4

(€ 3,421




